| D-08

ESEpER A

LMK60(D)%E!5% R ~t

. . ; MOTION TECHNOLOGY

82
51
30 —4-M5x0.8Px8 DP.
szz-Maxo.spxs DP. N 15x1.5 DP
(L ¥ || + ¥
K 4 M
- © g lels]sl R @ e
xl - I= - - -
i © ' QL] © i
‘ i || : i
Z " 5 M2.6x0.45Px3 DP: K o
2xm-M2.6x0.45Px4 DP: (K 6 .
59
185 305
BA{TIE ‘ 15.5
| -9
i . i
| | | ,—n—l—F‘rAﬁ=‘=’—F‘rﬁ—n ! EI' — o
2 T S — — — — — Sy
¥R ‘ I , : N &
AJT C¥ ¥ # = 8
Q Pl || Ll N B | E
i ’ i A—: : t 8
2xn- @9.5%4.7 DP. | 100
+25.5 THRU (n-1)x100 G
L2
L1
42
30 4-M4x0.7Px8 DP.
i i P.C.D@40
T o .
o :
’ f ‘ ) ) n ;
N \
T T 1
30 15 | s ©
80 e
L arao i
SECTION A-A 4-M3x0.5Px8 DP.
B (mm)
BRAITEE (mm) 22 (kg)
HEREL2 (mm) 2RL1 (mm) .
150 220 60 - 25 100 2 2 1.5 -
200 270 110 - 50 100 2 2 1.8 o
300 370 210 135 50 200 3 2 2.4 2.7
400 470 310 235 50 100 4 4 3 3.3
500 570 410 335 50 200 5 3 3.6 3.9
600 670 510 435 50 100 6 6 4.2 4.6




ESEpER A

. . ; MOTION TECHNOLOGY

LMK60(D)& 3=

—4-M5x%0.8Px8 DP.

150
200
300
400
500

600

220
270
370
470
570
670

BRA{TAE (mm)

60 -
110 -
210 135
310 235
410 335
510 435

25
50

50
50
50
50

100
100
200
100
200

o g B~ w NN

100

m

o w A N NN

1.7
21
27
3.3
3.9
4.6

1
,,,,, :
j
I
il
9
] =
_ _ _ i 3
. e e e -1
b @
N !
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, l
* |
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, L
O $¢ O
2xm-M2.6x0.45Px4 DP: o D-M2.6%0.45P%6 DP
K
(m-1)xK G
P 59
RAITIE | 18.5 30.5
‘ 15.5
| A—- ‘ 9
1 | i | i 1
I . ‘
i _
[se)
| <
o — | T 1 is 4 (TF e
o - -/ L 8
Qm ¥ ? i Q
. | i ! 5
11 A~ ‘ 8
2xn- ©9.5x4.7 DP. 100
+@5.5 THRU
(n-1)x100 G
L2
L1
P.C.D@40 86
74
/»4-M3x0.5Px8 DP. ‘
. ‘ |
O
¢ @O®O©
™| ~
N o,
NC R
30 15
4-M4x0.7Px8 DP. 60
SECTION A-A

3.6
4.2

B (mm)

B2 (kg)

D-09 |



ESEhER A ...___@%§§£§

LMK60:E 154558

EEEEFO %L%E?i’éégf%ﬁ'z3 4-M5%0.8Px10 DP:
59 59.6 185 305 119
185__ 305 4-M#x0.7Px8 DP: 155 13
155 P.C.D.40- = 2
> 2 i 8
Rl B 0 : T e
= & = -4 8%
S R £ e s e [ | S8
il 8 — e ==l
— e
g L
EE AR 1 HiEEEEARF4
59 10 59 1Q
5. 305 4-M4x0.7Px10 DP 189..3905 5
192 35 P.CDA6~, -l %e
2| N S ) 5 — ‘ <
i 10 | {© {1 i = =g N
— oy 3 L@ S MEEmEE ;
" - }‘777777 7:7 N b ~ ™ @ \© I g o N
,,,,,, EEL Sl e & — | [E=—— 1] 8
— m} 142
e L
SiEEEARF2 HIEERARRFS
) 1 185, 35095 & 5391'6
185_ 305 4-M3x0.5Px10 DP- : .
{55 P.CDA45 i 155 |
il 3.5 T - 2 S 1 o
T {©® ° . = N
v -4 o | 4© @ | v o o N — et B2
= S R ANSZ o8 A ey e
= '*E* TTHS: & © g | s 1 HFT7TT1T78 Ml | 9o
7777777 BRIASE ! e 2 ] e = p i T
I | ] 2 042 o‘[ 4- @6x4 DP-
+23.4 THRU (RETTL)
§5 3 E 7 EEHO B9 S AT H
18 . 16 5:?56 L4xM4x0.7Px15DP e 169 597‘6 4-M4x0.7Px15 DP.
X X0.7PX . 15 2 4= x0. x .
-5, ‘9— 1 el Ny —
T 8 Tht< o
—q |F 2 s L@y |4 At o LI |
1 =8 3 ° ° ;ﬂ 2 3 ° ° 2[
— e ﬁg\ ° oo™ — 8 9‘“{ o o =
o ' [ | o i (<)
¥ ' T f

D-13 |



| D-14

ESEfARAR A

LMK86:&1:554558

EBSEEEFO
87
23 50 3.5
28
1 =
[ (=]
e 1 —5
¥ T 3 ]
ﬂ, e o
B %8
BiEEZARIF1
87 10
23 50
28
18 35
e [
o= Ny=mE| W
18 8

87 8
23 50
28
18
I ]
;
= 1l g
I s S
BEEIEARF3
87 8
23 50
28
18
=

@30;3.%
246

:ﬂELFfﬂ

85
4-M5%0.8P=10 DP.

64
|
‘

062

4-M4xD.7Px10 DPy

P.C.0.70—
AR

~

062
4-M4x0.7Px8 DP:;
P.C.D4
T,
o \

I le. 0\\
< ‘

o o

062
P|C.D.45

L o)
o o \T\@ y
flof Mo

1
- L4-Me.><0.5P><8

64

plo ="
“t [IS.C.D.G
4-M4x0.7Px8 DP.

64
|

&
—

O
/
By
S o=
‘\{2‘

' @

o o
o

30° Og
‘\Q.‘_og%'

ogv

X973

)

DP.

BiEEZARF4
87 12
23 50
.28, 3.5
|
v s
I e "11: Q

87 8
23 50
28
18
ot [

ﬂWEL 1

8

eedoc
‘zss.ﬂggg‘
246

954 [E £ EEHO
28

23,

18

LR

=

@40h8

. . ; MOTION TECHNOLOGY

080

4-M5%0

.8Px12 DP.

64
\

47.14

4-M5x0.8Px12 DP.

l

64

OO[

o]
O~

{®)
(=)
o:I
o o

o5 R B 5

A~ | j
sSR!
e ! |
SEN i @3.2THRU.
o i
@3
/‘%iﬂl
©«© — —
N I I I
i |8 © |9=
19
BS5-L1M

)
ES)

20

16.5
13

\-@3.2THRU.

5.4

15.4
12.6

a3

BS5-Y1M





